)

2)

3)

4)

Important Instructions for the
School Principal

(Not to be printed with the question paper)

This question paper is strictly meant for use in school based SA-II, March-2012
only. This question paper is not to be used for any other purpose except
mentioned above under any circumstances.

The intellectual material contained in the question paper is the exclusive property
of Central Board of Secondary Education and no one including the user school is
allowed to publish, print or convey (by any means) to any person not authorised
by the board in this regard.

The School Principal is responsible for the safe custody of the question paper or
any other material sent by the Central Board of Secondary Education in
connection with school based SA-II, March-2012, in any form including the print-
outs, compact-disc or any other electronic form.

Any violation of the terms and conditions mentioned above may result in the

action criminal or civil under the applicable laws/byelaws against the
offenders/ defaulters.

Note:

Please ensure that these instructions are not printed with the
question paper being administered to the examinees.
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SUMMATIVE ASSESSMENT - II, 2012 47032
Henfera et - 11, 2012
SCIENCE / fag™
Class - IX /o8&l - IX

Time allowed : 3 hours Maximum Marks : 90

fuifa wu : 3 gue Ifereraw 37k : 90

General Instructions :

(1) The question paper comprises of two Sections, A and B. You are to attempt both the
sections.

(if) All questions are compulsory.

(iii)  There is no overall choice. However, internal choice has been provided in all the five
questions of five marks category. Only one option in such questions is to be attempted.

(iv)  All questions of Section-A and all questions of Section-B are to be attempted separately.

(v) Question numbers 1 to 3 in Section-A are one mark questions. These are to be answered in
one word or in one sentence.

(vi)  Question numbers 4 to 7 in Section-A are two marks questions. These are to be answered in
about 30 words each.

(vii)  Question numbers 8 to 19 in Section-A are three marks questions. These are to be answered
in about 50 words each.

(viii) Question numbers 20 to 24 in Section-A are five marks questions. These are to be answered
in about 70 words each.

(ix)  Question numbers 25 to 42 in Section-B are multiple choice questions based on practical
skills. Each question is a one mark question. You are to select one most appropriate
response out of the four provided to you.

qrar= fdar

()  T9 U U I S U, UT-37 T WMI-a F Sl T | SR SHI IRk e o I e
gl

(i) Ay erfremd ¥ |

(i) T WA T W HE T WH T § g WH-E B F u" g # ofiadt w=e femm e #
T U H 319 hael Tk il =197 i SR fera & fau 501 ghd ¥

(iv)  STURI WMT-37 3R WFI-& & Gt T & IR JIR-Jok o 8 |

(v)  WT-37 % W H&A 1§ 3 % YT Ueh-Teh 346k h & | 37 SR Ueh ITeg AL Ueh a1 | & |

(vi) ~ WTI-37 % YT H&A 4§ 76 YT -8 ekl & & | 7ok S A 30 9T&at H o ¢ |

(vii) ~ WHT-37 % T¥7 H&AT 8 § 19 T T -1 3¥ehl o & | Tk SO A 50 9Tal H <7 2|

(viii) WRT-37 % F¥T H&A 20 T 24 F YT Urel-UTa ekl o & | TToh ST T 70 P1aat | < T |

(ix) WF-& % U GE 25 ¥ 42 F YT YARMHSE hivad R R sgfohedt ued €1 Jds ged
Teh 3k H1 1 U T =R faeredl # & 9kl hadl Uk Fod 39ga faehed 1 T |
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SECTION-A / WRT-37

If the valency of an element A is 3, write the chemical formula of its sulphide. 1

e T& A Tt TASRAT 3 B, T SHh HewhEe I THES I fafau |

What is the primary characteristic on which the first division of organisms is made ? 1

STl a1 Yo Sffentor ford Y&a T&T0T o TR W foha Sran 7|

Name the process by which carbon is incorporated into life forms like plants. 1

39 fsean 1 9 fafay fSaes gry weq sitaa & fafys goeri S8 fw i o garfas e
gl

(a) Give three features of butterflies to justify its classifications in phylum 2
(b) Arthropod. Mention one more animal of the same family.

amgifare ot # faafesi & afiRtor ot gfte i & fore s9e i stfierer fafaw | ga =t
F TH AR S 1 W faafaw |

The immune system of a person is damaged by the attack of a pathogen in his body. 2
(i) Name the disease he is suffering from.
(if) Name the pathogen and any two modes of its transmission.

Fo GeUSal & Al o Rl TRt safa =h1 Tfaien o aifaurd & g €|
() 9 At forg I 9 difea &2
(i) 39 Ik heh Yersie 1AM fafae qen <1 alieh sdary 579 =8 W Tk

e 9§ g =Afad H Toriala & g 71
Give reason :- 2
(@) An iron nail floats on mercury but sinks in water.

(b) Tractors have broad tyres.

WWW =

(@) T AE H Hid IR W A § e I H A St B
(b) SHRIF TR AR B T

(@) Define Kinetic energy. 2
(b) Which will have more impact on kinetic energy of a body-doubling the mass
or doubling the velocity ?

(@) TS Sl SRl ARG IS
(b) Tr=fatad 5 & fedt fyve =t wfast s W fheeh g9 eites aem ?
()  FA9A SR e fEA STl (i) o QAT SR fean S

(a) When 5g of calcium is burnt in 2g of oxygen, then 7g of calcium oxide is 3
produced. What mass of calcium oxide will be produced when 5g of calcium
is burnt in 20g of oxygen, which law of chemical combination will govern
Page 3 of 13



10.

11.

12.

13.

14.

your answer ?
(b) Write the chemical formula of calcium oxide.

(a) 9 5 UM hicxrd 2 W STfeATS § SIeman S § @ 7 U ohicvem siadse ure
Bt T 1 Hiesm SAfaaEe &1 fhaT g9@E WK T We 5 UM hfesEd @
20 U SIS B STAT ST, TR JAISH oh1 hia 91 fam 38 et s
g?

(b)  Shfcerm sAfeEe o1 TERE g7 fafa |

List Bohr-Bury rules for distribution of electrons in different shells (any two). Draw
the atomic structure of an atom with atomic number 11.

et w1 fafus weasil # ol & fame & fau aR-ah & faw gees S
(E <) TTHIY] TE&AT - 11 10 T ki TRAI0eeh HEAT A1 | (TTHTY] HieeT)

List two differences between electron, proton and neutron.

T, WM IR =2 H &g 31 STd gHidg hife |

Write three differences between animals belonging to Aves group and those in
Mammalia group.

weft ot qer TaE ot 9 Heifig sigetl § o faemnd fafem)

Write appropriate terms for the following :

(@) Animals that are able to maintain a certain body temperature over a wide
range of temperature in the environment.

(b) Plants which bear naked seeds.

() Animals which have Pseudocoelom.

frefafaa & fore swe v fafau|

(a) O ST S 319 IR o A ohl AYHEA o SHeh q9AM IREX § off | o1
@ T

(b) ~ TASISH A1 |

(€ 3 g IS8 Hediam = S §

(@) Write a difference between Acute and Chronic disease.
(b) Pick out Chronic Diseases from the list given below :
Japanese encephalitis, Viral fever, Common cold, Tuberculosis.

(@) = (FEE) T SEiehIfcreh WM H hig o A fafan |
(b)y = few e I F | it g
ST TAtheTEfed, aTEtel JER, Sikl-S[hM, TUa |

(@) State Archimedes’ principle. Give two applications of this principle,
(b) A sphere of iron and another of wood having the same radius are held under
water. Which of these experiences a greater buoyant force ?

()  TfhHrE w1 fagia =e wifse | 39 fagia & < e fafea
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15.

16.

17.

18.

19.

20.

(b)  TH GHM B o U ], Th AR 1 q1 Th RSl I, I I H Tehg L @l
ST © 1 398 | TR et W sAfesh Scatmas 5/ @ ?

(i) Name the device in which chemical energy changes into electrical energy.
(ii) Two bodies of equal masses move with the uniform velocities ‘v’ and ‘3v’
respectively. Find the ratio of their kinetic energies.

() 39 gfe 1 T fafey fad vomftes st foaga et § afafdd 8 g1

(i) TH T gAEH 9 < AU TR EE S HH: v a1 3y ¥ 9d ®
ITeh! Tt Sstl k1 STIUT IR ifIT |

(@) Where does a pendulum have maximum :
(i) Potential energy
(ii) Kinetic energy

(b) An electric bulb is rated 40W. What does it mean ? What is the energy
consumed in joules if it is used for 100 minutes ?

(a) SO FA U U WA etk Hi AfeRan fast ok feafas st fora stawen d
Bl ?

(b) T Toreqq, Sieel i ST wiferk 40 W B 1 et )1 31 2 100 fiee ® @18 et
Sl = RN ? (I S H =K ) |

A sound wave travels at a speed of 399 m/s. If its wave length is 1.5 cm, what is the
frequency of the wave ? Will it be audible ?

@wﬁw399m/sﬁﬁ5ﬁ{?ﬁ§W&WﬁﬁﬁéﬁlScm%?ﬁﬂ@Taﬁmw
TRM ? o 9% A BT ?

Mention the importance of soil. How is it depleted ? Write two ways to replenish
soil.

3T % TR 1 SC0TE IS | THRT 319 ford YR AT € 2 SHeh STV ! iE QI
faferal ferfaw)

Explain the following terms.

(@) Ammonification (ii) Nitrification (iii) = Biosphere

Tra fou U et <t =AmEn wifsw -

()  STHITEER (ii) BRI (ii) SaHSA

(@) Write the formulae of the following compounds :-
(i) Calcium hydroxide (if) Magnesium nitrate
(iif)  Aluminium chloride (iv)  Potassium oxide

(b) Find the mass of 12.044 X 10%* atoms of calcium, given that atomic mass of
Ca=40u.

() How many moles are present in 0.64 g of SOz gas, if the atomic mass of

S=32u and oxygen is 16 u respectively.
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21.

22,

—~
Q
—

(m

frefafaa Aifen % Tamafe 97 fafe .-

()  hicwrm BEglHES ()  HfifoEm AR

(i) ~ TfHfEE FRES (iv) defrm sifaErEe

HfeeT & 12.044 x 1024 WAV T SHATA Td B HicTRH 1 AT
SGIHM =40 u |

0.64 g T SE3iTeTES 19 | Hidl ! HE€al I hifse | fST 7T = 7] g\
A =321, 0=16u g |

OR/3TraT
Write the cations and anions present in the following compounds :-
CaO, NHs NOs, KCL.
Calculate the number of molecules in 8 grams of methane (CHa). Given
atomic mass of C = 12 u, H = 14.

frfafea dife § Suftad eAm@E 9en swomaq fafaw -

CaO, NH4 NOs, KCI.

8 UTH HieF (CHy) | $TU[3T1 ol & IRehTed hifaT | fGT 7T TRHTY] SHMH s
C =12u H = 1481

Draw the diagram of Hydra and label the following parts.

(i) Mouth (if) Mesoglea (iif)  Foot.

You are given green Gram, Wheat, Maize and Tamarind seeds. How will you
find out by a simple activity if they are monocot or dicot seeds ?

Plants of which group are called amphibians of the plant kingdom ?

TES] I AW Wifauw a1 =faiaa anT sifehd Hife

G q@ (i) =i (i) 9=

STTIehT X =1, g, TRl A1 g9 & sl feu T €1 T WXl fshamhomy gry &1y
frT TR 19 ST foh 3 S Thaeraet € Steran fgsisrast |

forg ot & Tiell 01 UIew = BT IUIR HEl A1 E ?

OR/31¥aT
Draw the diagram of Planaria and label the following parts :
(i) Eyes (i) Gastrovascular cavity, (if) Pharynx.

Write four characteristics of vertebrates.
Name the group of animals to which prawn and centipede belong.

T 1 3T Eifae qun fefafaa am sifed wifag

G e (i)  fEd SeX HaeHt & (i) Hiew
FYTeh! (aferer) Sfal & ar fafire aau fafem)

Sigetl & 59 ot o1 A fafay fored g e s dsifed €1

What is power ?

Write one difference between kilowatt and kilowatt hour.

The Jog falls in Karnataka states are nearly 20 m high. 2000 tons (1ton = 1000
kg) of water fall from it in a minute. Calculate the equivalent power if all this

energy can be utilized ? Take g =10 m/s”.
wferd R 2
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23.

(i)
(iif)

(i)

(i)

fepcttate der foreiaie Har o ofdt Tm sifsy |

FAtesh Tod | oo ST ST JuTd ST 20 m S § 1 99 e e o 2000 25
(17=1000 kg) ST firar &1 afg TRt it k1 39T fehan STQ o Wkt wifsrt 1
GREhe™ IS | (g B AH=10 m/s~2)

OR/21eraT
What is the work done by the force of gravity on a satellite moving around
the earth ? Justify your answer.
A mass of 5 kg is at a point A on a table. It is moved to a point B 25 cm away
by applying a force of 20 N in the direction of force. What is the work done

on the object by :

(@) The gravitational force.
(b) The applied force.

() The frictional force.

gt o AR SR FAd gU foRdlt 3TUE W T 9a N fad wE fRan Smom 2
379 I I ThHTd SHET |

5 kg ST &1 T fie B9 W A fog WM @1 §1 38 20 =7 #1 9 AR B
foig e oa =T feen & @ Sian @ S fog A 925 em ®1 g0 W R fie W
T S fehdeT BT ST

(@  TEEEA
(b) T TAT 5
) =W HA

How the sound propagates through the medium ?

Show a sound wave in graphic form and mention crest, trough, wave length
and amplitude of the wave in it.

Why the sound waves are called longitudinal waves ?

qreem B eqfd foha yeopr H=fid &l § 2

e T 1 WRT B9 YSRid w3 399 47, 7d, o 2 9 T 1 3T
T |

sf7 T o ergeed qul i Fed € 2

OR/31¥aT
Which property of sound wave determines :
Loudness (b) Pitch
A SONAR station picks up a return signal after 3 seconds. How far away is
the object ? (Speed of sound in water is 1440 m/s)
How can reverberations in a big hall or auditorium be reduced ?

a1 T T A G107 (a) W (b) TR Rl F2ifa ean & 2

Tsh MR ¥ WEfid Gohdl 3 YhUE F TIA I HdT ¢, I&] Feha i T2
(St | waf ot =t 1440 m/s ©)
ot T 9o a1 9 =it § 3TRVA hdl kA foe wTd € 2
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24.

25.

26.

27.

Draw schematic diagram of water cycle in nature. 5
Name three processes which occur during water cycle.
What is the major source of water vapours in water cycle ?

Yohd | Sl ook ol ARG %q0r Shiferg |
b) I =k I SAATY H B ATel diF Gfshanstl o1 9 fafaw |
ST =1k B STetaTsdl <l Y §Id 1 § 2

0

N— =

(@)
~

OR/37eraT
(@) Draw schematic diagram of oxygen cycle in nature. 5
What are the two forms in which oxygen is found in nature in its elemental
form.
Write four carbon containing molecules on which all life forms are based.

Yehfd H TR <k Skl RGN e ifsw

—~
S

(@)
~

~ o~ o~ o~
Q
~—~—

b) UK H TS d R < %l e S € 2
c) TR e MHIA v % M fafae W W et St w9 enenfia 2 €
SECTION - B / HT-&

When BaCl, and Na,SO, are mixed in a flask. 1
(@) the mass of the flask changes but not of the contents after the reaction.

(b) the mass of the contents change but not of the flask after the reaction.

() the mass of the flask and its contents do not change after the reaction.

(d) the mass of the flask and its contents change after the reaction.

ST BaCl, 9% Na,SO, 1 Teh Fetreeh H fiafs foran <man & 1 :-

()  STfafsRaT o TYEIG AR 1 SoHM dGa Sl & W 3id aEqai 1 T |
(b)  Afufsran % wvema fd SRqetl 1 SIHM aee ST § U] WATER Rl e |
()  eAfufsran &% vvemd omes aun 3id Sl 1 SATH e Seed ¢ |
(

d)  Afufsran % Tvam vomes qe 3id SRgei 1 §eIHM dee S € |

According to law of conservation of mass if 123.5 gm of CuCO, is heated, the amount 1
of CuO and CO, formed will be

(a) 79.5 gm CuO and 44 gm CO, (b) 79.5 gm CuO and 42 gm CO,

() 79.5 gm CuO and 24 gm CO, (d) 44 gm CuO and 48 gm CO,

oA HXETOT o 198 o $ER AfE 123.5 g CuCO, i T fehan ST @1 CuO T CO, i
TS A B -

(@) 79.5 g CuO d9144 gm CO, (b) 79.5 g CuO d9142 gm CO,

() 79.5gCuOaA124 gm CO, (d) 44 g CuO 9148 gm CO,

What is the role of air bladder in a fish ? 1
(@) acts as reservoir of fresh air

(b) to maintain buoyancy in water

() reserve food material is stored in it

(

d) acts as lungs when a fish jumps on surface of water.
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28.

29.

30.

et | seiel Y T yfient St 7 ?
(@) I8 TS ATg o HUSH 1 FE B T
b) S H TR ScIERIT ST W& ¢ |

(
(€)  3H TR HUfed WIS o1 TL&I0 HLd & |
(

d) 9 gD I | SR ST § dl kel 1 i H ¥ |

The highest evolved among the following are :

(@)  Thallophytes (b) Bryophytes
()  Gymnosperms (d) Angiosperms
e & & wed e forpfia €

()  AciprEeH (b) SR
(c) T St (d) e st

Mohit observed the posterior part of a male cockroach in the laboratory. He made

the following diagram. The missing part in this diagram is :

b

(@) Antenna-e : (b)
() Anal cerci (d)

Brood pouch
Anal styles

HIfed Teh TR hish™ T TS YT TAIRN H <@ W1 911 3G 39 o1¢ 1= fost s

TH T R UM T

(©) < (T gEi) (d)

Needle like leaves are the characteristics of :

(@) Moss (b) Fern (c)
TATHR Tl T AT
(a) (b) ©

sig Ieft (I =)

NERICE

Pinus

(d)

(d)

Musta

Eeree|

rd
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31. In an angiospermic plant the part of the seed that develops into roots is :-

(@) Radicle (b) node (o) cotyledon (d) Plumule
e TR S e T T S e R e e d
(2) HTER (b) SR (FE)  (c) S CINLE

32. A student is observing the developmental stages in the life cycle of a mosquito. He
has observed that the stage in which the organism is very active and requires a lot of
food is
(@) egg (b) larva (c) pupa (d) adult
e forenefl 7ot % e = w1 fomret stawensii o1 et 9 @l 81 SEY Yaror faen T

T sTaed 9 a8 Sa agd 2Ifuss afora T a0 et Ao &t sTavgehar off 21fess € 9%
g

(a) TUel (b) fervesm (c) = (d) IR

33. The mass of a solid iron cube of side 4 cm is to be determined by using any four of
spring balances available. The one best suited for this purpose would have :
(a) range =0 to 100 g and least count=1g.
(b) range =0 to 100 g and least count=>5 g.
(c) range =0 to 1000 g and least count=10 g.
(d) range =0 to 1000 g and least count=25 g.

4 cm o1 9101 W S AR o T T ZeAHH AR YT HAMIGR gensti | ¥ fordl ww g
T HA &1 39 HE & e g === g fomd -
(a)  9IREX=09 100 ¥ T HITHIF =1 TH

(b)  9RER=09100 UM 1 STqHIFR =5 UH
()  9RER=091000 I q1 3cYdHih =10 U™
(d)  9RE=0H 1000 UM q SUTHIF =25 TMH

34. The spring balance shown below is used to measure the mass of the given solid. The
mass of the solid is :-

& il
!

L
n|

7 -4
(@) 115¢g (b) “”‘118 g (o) 120 g (d) 125 g
e TR T HAMIGR gl i I 7T S 1 ZeqHH A & fore SuEnT fRar S 7

31 1 ZAHM © -
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35.

36.

(@) 1157 (b) 118 7™ (€) 1207 (d) 1257

While determining the density of the material of body a student recorded the

following observations

(a) Mass of the body =624 g

(b) (i) Reading of water level in the measuring cylinder without body = 16.4 ml
(ii) Reading of water level in the measuring cylinder with body = 24.4 m/

Based on these observations the density of material of the body in kg m ° is
(a) 8000 (b) 7800 (0 4000 (d) 3900
fereft o o weredl o1 o i hed W feret o | A= fow T e e foh
(@) TewmgeEA=624g
) ()  fom fyue % Aok fafue § Siet o w1 H aEgdie = 16.4 ml
i) fIve® 5@ H gaH W "k GfAvel § A % WX H IGA® = 24.4 ml
7 Treiehi o STTHR W e & e dkgm U H WA T

(@) 8000 (b) 7800 (c) 4000 (d) 3900

In the experiment to establish the relationship between the apparent loss in weight of
an immersed solid with the weight of liquid displaced by it, a student measured the
weights of two stone pieces first in air, then in water and finally in salty water. His
observation are as given in the following table.

Stone Weight in air Weight in water Weight in Salty water
A 72g 49 ¢ 45 g
B 2l6 g 147 g 152 g

The INCORRECT observation is that of the weight of stone
(@) A in water (b)
() B in water (d) B in salty water

frdt g o gaM W fve & IR H o9t weft qen fave gr faeenfua g9 < vR # 9oy
TG T o FANT § Rl S A & WeeR & Iohe A T B fTT 38 g77ah1 vR ag #, fiRX
STot H qe 3T W A9k Sl § A fohar ST 31w o i fou sTER arferest # A fohu

A in salty water

TR I H 9R A H IR TS 5T H 9N
A 72g 49¢ 45 ¢
B 216 ¢ 147 g 152 g

794 TR Tee 1 9 1 R 9E T8l § ?
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37.

38.

39.

@@ A®SAH (b) A THHM A H
(c) B&ESAH (d) B THRM A H

To observe and compare the pressure exerted by the three faces of a cuboid on the
sand, if you have cuboids of same dimensions but of different materials, the best
choice of material out of the following would be.

(@) Iron cuboid and fine sand
(b) Aluminum cuboid and fine sand
() Iron cuboid and coarse sand

(d) Wooden cuboid and coarse sand

foRelt =19 & THI Wetehl §RI 0 WX SN T 19 oh1 Y&I0T Ud 3R il i o faT Afg
sk o fafier weret & Tum famed ot sy € 9@ 39 WA B e & fow gdm
amn €

(a) e I T HEH XA

(b)  TAMHMEH 1 =AY 991 HE X

()  IE T = q1 Hiel X
(

d)  REl T BIY 91 HIST

A cuboid of mass 2.0 Kg and dimensions 2 cm X 5 cm X 25 cm is placed on a table to

exert pressure on its surface. If the value of g=10m/s” the maximum and minimum
pressures exerted by the cuboid respectively are :

(a) 20000 pa ; 16000 pa (b) 20000 pa, 1600 pa

() 4000 pa ; 1600 pa (d) 4000 pa, 2000 pa

2 emx5 cmx 25 cm fARA 1 2.0 Kg §HH a1el ig oA fhell 39 W 386 78 W
T S W fAT T TR A g=10m/s> € q 39 B BN WS o Y8 W HARIE
aAfersham qen fread g s €

(@) 20000 pa ; 16000 pa (b) 20000 pa, 1600 pa

(c) 4000 pa ; 1600 pa (d) 4000 pa, 2000 pa

The figure shown below is an experimental set up for verification of laws of

reflection of sound. The source of sound should be held at :
D

A B
@ A c (b) B © D d C
i <ot TR AN S o e o ] ] GG i 1 YT e i ¢ |

39 ANG U & ol Sd TIAT =16y
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@ A (b) B (© D (d €

In an experiment to verify the laws of reflection of sound a sound wave strikes a
surface perpendicularly. The angle of reflectionis: __

(a) 60° (b) 90° ) 0° (d)  180°

& & A o TTIHT ] FAIId e o T e 7T 99 # e s a@l fhdt g0
TSI | ORI Shivl B

(a) 60° (b) 90° (cp ©0° (d) 180°
The velocity of the pulse of the slinky indicated in the figure given below is :-

5m —

B
Given that the pulse took 5 seconds to travel from A to B and then back to A :

(@) 5ms ' (b) 2ms ' ©  10ms " d  1oms
e fau e feient o ST o wie 1 9 g

fean T B foF Tie T A 4B AN AW A T A H 5 GHUS H qA o
(a) 5ms~! (b) 2ms~! () 10ms=! (d) 15ms~!

Rohan is calculating the velocity of a wave using a slinky. He will get the best result
only if the slinky chosen by him is :

(@) Long, soft and flexible (b) short, soft and flexible

() short, hard and flexible (d) long, soft but not flexible.

e 1 Tt § T &1 =16 A F B GG HA &1 3] Halrom qromH 717 F |
A 1 feeteht T T fie -

(a) T, HeAEH Q1 A=l (b) DI HAEH q°1 A=A

(c) BieT, T&T a1 A=l (d) e, GAEE a1 S T8
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